
© Copyright 2005 Nebraska Irrigation, Inc. All Rights Reserved.

101

A

B

C

D

E

F

G

H

I

Sprinklers

PH: 402-564-1514  •  FAX: 402-563-2792  •  Columbus, Nebraska  •  nebraskairrigation.com

Boom Backs
NI Part # Description
51045W Boom Back Hardware Kit
510334 Pipe 3/4" x 126" M x M Galv. 

Schedule 40

NI sells various sizes, types, and 
models of valves. Not all can be 

listed in this catalog. 

Call us for more information.

Ball Valves

Flanges are also available.

NI Part # Description
966122 Valve, Ball, Motorized, 2"

79056 Motor Only, Actuator, 2"
67037 Body Only, Motorized Ball Valve, 2"
75008 Linkage Only, Motorized Ball Valve, 2"

DROPS

NI Part # Description
96664 Valve, Ball, Plastic, 3/4" NPT, M x F, Long 

Handle
96669 Valve, Ball, Plastic, 3/4" NPT, M x F, Stan-

dard Handle
96674 Valve, Ball, Plastic, 3/4" Garden Hose 

Thread, M x F, Long Handle
966416 Valve, Ball, Plastic, 3/4" NPT, F x F

Plastic Ball Valves

Motorized Brass Ball Valves

NI Part # Description
966103 Valve, Ball, Brass, 3/4" NPT, F x F
96652 Valve, Ball, Brass, 1" NPT, F x F
96654 Valve, Ball, Brass, 1-1/4" NPT, F x F
96653 Valve, Ball, Brass, 1-1/2" NPT, F x F
966123 Valve, Ball, Brass, 2" NPT, F x F
96656 Valve, Ball, Brass, 3" NPT, F x F
65008 Handle for 2" Ball Valve

Brass Ball Valves

Ball Valve w/ 
Long Handle 

96664 Ball Valve w/ 
Standard Handle 

96669

Pipe Line

Truss 
Rod

Boom

Brass Ball Valve 
3/4"

2

1

4

3

Boom Back Kit Components
Item NI Part # Qty Description

1 76511 1 Loop, Boom Back, 120°
2 228107 1 Bracket
3 200136 1 U-Bolt, 1/4" x 1-1/8"

82046 2 Nut, Spacer, 5/16"
82047 2 Locknut, 1/4"

4 200136 1 U-Bolt, 1/4" x 1-1/8"
82046 2 Nut, Spacer, 5/16"
82047 2 Locknut, 1/4"

5 51517 2 Elbow, Street, 3/4"

Boom

5 5


